1) Kontrolní práce 1:

K1 A - zadání

(2 + b)2 = 

4x2 - 16xy + 16y2 = 
(a + 2) ( (a - 3) = 

(5a + 4b) ( (5a - 4b) = 
K1 A - řešení

(2 + b)2 = 4 + 4b + b2

4x2 - 16xy + 16y2 = (2x - 4y)2

(a + 2) ( (a - 3) = a2 – 3a + 2a – 6 = a2 – a  – 6

(5a + 4b) ( (5a - 4b) = 25a2 – 16b2
K1 B - zadání

9 - b2 = 

(a + 2b) ( (3c - 2d) = 

49x2 - 84xy + 36y2 = 

(4x - 7y)2 = 
K1 B - řešení

9 - b2 = (3 + b) ( (3 - b)

(a + 2b) ( (3c - 2d) = 3ac - 2ad + 6bc - 4bd

49x2 - 84xy + 36y2 = (7x - 6y)2
(4x - 7y)2 = 16x2 - 56xy + 49y2
2) Kontrolní práce 2:
K2 A – zadání: 

Uprav a ověř pro a = 1
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Uprav a ověř pro a = 1, b = 2
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K2 A – řešení: 

Uprav a ověř pro a = 1
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Ověření pro a = 1:
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Uprav a ověř pro a = 1, b = 2
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Ověření pro a = 1, b = 2:
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K2 B – zadání: 

Uprav a ověř pro a = 2
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Uprav a ověř pro a = 2, b = 1
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K2 B – řešení:
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Ověření pro a = 2:
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Ověření pro a = 2, b = 1:
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3) Kontrolní práce 3:

K3 A - zadání:

(3 + b)2 = 

a2 – 4a + 4 = 

(2a3 + 5b2) (2a3 - 5b2) = 

a2 + a = 

4a6 + 20a3b + 25b2 = 

9 – b2 = 

a2 – ab = 

(1 – b2) = 

K3 A - řešení:

(3 + b)2 = 9 + 6b + b2 

a2 – 4a + 4 = (a – 2)2 = (a – 2) (a – 2)
(2a3 + 5b2) (2a3 - 5b2) = 4a6 – 25b4
a2 + a = a(a + 1)
4a6 + 20a3b + 25b2 = (2a3 + 5b2)2 = (2a3 + 5b2) (2a3 + 5b2)
9 – b2 = (3 – b)(3 + b)
a2 – ab = a(a – b)
(1 – b2) = (1 – b) (1 + b)
4) Kontrolní práce 4:

(2a - 5b) ( (2a + 5b) = 4a2 – 25b2
(4a + 3b)2 = 16a2 + 24ab + 9b2
16a2 - 24ab + 9b2 = (4a - 3b)2 = (4a - 3b)(4a - 3b)
16a2 - 9b2 = (4a - 3b) ( (4a + 3b)

2a2 + 3a = a(2a + 3)
4a6 - 20a3b2  + 25b4 = (2a3 - 5b2) 2 = (2a3 - 5b2) ( (2a3 - 5b2)
(4a - 3b)2 = 16a2 - 24ab + 9b2
(a – 2)(a + 3) = a2 + 3a – 2a – 6 = a2 + a – 6

5) Kontrolní práce 5:
2a(a2 + 1) = 2a3 + 2a

(a + 2) ( (a + 2) = (a + 2)2 = a2 + 4a + 4

a2 – 4 = (a - 2) ( (a + 2)

a2 - 4a + 4 = (a - 2)2 = (a - 2) ( (a - 2)

2a + 4ab + 8b = 2(a + 2ab + 4b)

9 + 6b + b2 = (3 + b)2 = (3 + b) ( (3 + b)

(3 - b)2 = 9 - 6b + b2
(3 - b) ( (3 + b) = 9 - b2 
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